ol 2x2—ax+5a+4=0

o 29 W, a2 9 gL

@ 13 3 16 @ 18 3 20

D 9



2. g 54 FoI4 ol Aol obd AL B W27

@ x*=0

© x? =8

©® x2*+4x=x-3
® (x-2)2=25

@ (x+1)2+4 = x?

® (x+1)(x-4)=x*(x+2)

© a6 ® 0O, ® 0,6,
@ @. ® B @. B



09 FFILolx=1

2-—ax+3=0,x24+2x-b

Aduff, g-b9 FHe?

@ 3 B 4

1

D0



4.

x= k7t ol

@

N w

@

g4

2x2—6x+1=0 9



5. Az ohE Al o] x gkl diste] the Alo] AT w, at b+ c o
Zre

ax> -3x-b _
42 +cex-5

) @

N | =1

N | —
@
o | ©
®
—_
=
w
w



g4

s

ks

A7) = 747} o3

=
=

2<2x-2 <554
P tax+b=09 2L, a* - b* 9]

-
ol

® 51 ® 11 @ -11 B -61

@D 61



@ 4 7 @ 8 ® 9

@D 2






A4 d w, x2 -5x+6 =05 2H?

1)
-

Tx—5<4(x+1)°]2 x

9.

@ x=2 x=3

@ x=2

@ x=0,x=1

B x=-2. x=3

@ x=23



10.

5x+ 2 < 4x + 50]3L x= Al A off, thg o] AP A

X -6x+5=0
@ x=1,x=3 @ x=1,x=5 @ x=1
@ x=2, x=3 ® x=2, x=5




